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2.18 Sample A.P. Problems on Derivati

. @l

V 'l" a) Find f'(z) for x < 1. a X_‘
LI" Zb) Find f(x) for = > 1. 2
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1=)- d) Find lim f'(z). 2, _}' (X)

e) Does f'(1) exist? Explm'u
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651. Let f be the function with derivative ['(x) --ml(r %) and J{0) = —1.
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a) Find the tangent line to f at «© = (.
b) Use your answer to part (a) to approximate the value of [ at 2 = 0.1,

¢) Is the actual value of f at r = (.1 greater than or less than the approximation from part
(b)? Justify your answer.
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) Write an expression for the slope ol the curve at any point (z,y).

b) Determine whethey the lines tangemt to the eurve at the s-intercepts of the curve are
parallel. Show the analysis that leads to your conclusion.

¢) Find the points on the curve where the lines tangent to the curve are vertical,

d C 654 (1994AB). A cirele is inscribed in a square. The eircumference of the cirele is increasing at 1
6:1 constant rate of 6 inches per second. As the circle expands, the square expands to maintain

d the condition of tangency. c)\
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& L-/ S‘ a) Find the rate at which the perimeter of the square is increasing. Indicate units of measure.

) At the instant when the area of the circle is 257 square inches, find the raie of increase
P (_{ in the area enclosed between the cirele and the square. Indicate units of measure,




